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Question ID:- 161
has the power to form new State or Union Territory in India.
Options:-
«Parliament, Option ID :- 641,
=« President, Option ID :- 642,
= Legislature, Option ID :- 643,

= House of People, Option ID :- 644,
Answer Given:- Parliament, Option ID : -641
Correct Answer :- Parliament Option ID :- 641

Question ID:- 206
Most kidney stones are usually in the form of which among the following?
Options:-
=Sodium nitrate, Option ID :- 821,
« Zinc oxide, Option ID :- 822,
= Calcium oxalate, Option ID :- 823,

= None of these, Option ID :- 824,

Answer Given:- Calcium oxalate, Option ID : -823
Correct Answer :- Calcium oxalate Option ID :- 823

Question ID:- 159
According to Preamble of Indian Constitution, Equality guaranteed is in

terms of opportunities and
Options:-
=Positions, Option ID :- 633,
= Dignity, Option ID :- 634,
« Status, Option ID :- 635,

« Actions, Option ID :- 636,
Answer Given:- Dignity, Option ID : -634
Correct Answer :- Status Option ID :- 635

Question ID:- 240
A builder appoints three construction workers Akash, Sunil and Rakesh on one of his sites. They take 20,
30 and 60 days respectively to do a piece of work. How many days will it take Akash to complete the
entire work if he is assisted by Sunil and Rakesh every third day?

Options:-
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=7 days, Option ID :- 957,
= 15 days, Option ID :- 958,
= 22 days, Option ID :- 959,

= 13 days, Option ID :- 960,
Answer Given:- Not Attempted
Correct Answer :- 15 days Option ID :- 958

Question ID:- 260
Which of the following is an important strategy for the conservation of
biodiversity?

Options:-

=« Wildlife sanctuary, Option ID :- 1037,

= National parks, Option ID :- 1038,

= Botanical gardens, Option ID :- 1039,

= Biosphere reserves, Option ID :- 1040,
Answer Given:- Botanical gardens, Option ID : -1039
Correct Answer :- Biosphere reserves Option ID :- 1040

Question ID:- 135
Which of the following dynasty built the famous Ellora caves ?
Options:-
=Rashtrakuta, Option ID :- 537,
= Chalukyas, Option ID :- 538,
= Pallava, Option ID :- 539,

= None of these, Option ID :- 540,
Answer Given:- Chalukyas, Option ID : -538
Correct Answer :- Rashtrakuta Option ID :- 537

Question ID:- 237

Three partners shared the profit in a business in the ratio 5 : 7 : 8. They had partnered for 14 months, 8
months and 7 months respectively. What was the ratio of their investments?

Options:-

=15:17 : 28, Option ID :- 945,

= 20 : 49 : 64, Option ID :- 946,

= 38: 28 : 21, Option ID :- 947,

= None of these, Option ID :- 948,
Answer Given:- Not Attempted
Correct Answer :- 20 : 49 : 64 Option ID :- 946

Question ID:- 186
Fill in the blank by using the correct appropriate word from the following given

options :
Nihar maneuvered the components of the machine into their proper
positions.

Options:-

=uneasily, Option ID :- 741,
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= expertly, Option ID :- 742,
= firmly, Option ID :- 743,

= badly, Option ID :- 744,
Answer Given:- expertly, Option ID : -742
Correct Answer :- expertly Option ID :- 742

Question ID:- 129

India’s first Autonomous Navigation Testbed (Aerial & terrestrials) facility was inaugurated by
Hon'ble Minister of State at IT Hyderabad on 4th July, 2022. What is it called ?

Options:-

sNaviTec, Option ID :- 513,
= AnteN, Option ID :- 514,
= TIHAN, Option ID :- 515,

= None of These, Option ID :- 516,
Answer Given:- TiHAN, Option ID : -515
Correct Answer :- TiIHAN Option ID :- 515

Question ID:- 217
A train 140 m long is running at 60 kmph. In how much time will it pass a platform 260 m long?
Options:-
=14 Sec, Option ID :- 865,
= 24 Sec, Option ID :- 866,
= 42 Sec, Option ID :- 867,

= 55 Sec, Option ID :- 868,
Answer Given:- 24 Sec, Option ID : -866
Correct Answer :- 24 Sec Option ID :- 866

Question ID:- 225

How many consonants are present between the first and third vowel in the sequence of English
alphabet ?

Options:-

=3, Option ID :- 897,

= 5, Option ID :- 898,

= 6, Option ID :- 899,

= 7, Option ID :- 900,
Answer Given:- 6, Option ID : -899
Correct Answer :- 6 Option ID :- 899

Question ID:- 160
Which Articles of the Indian Constitution stated the Temporary provision
for Jammu and Kashmir ?

Options:-

=356, Option ID :- 637,
= 343, Option ID :- 638,
« 393, Option ID :- 639,

=« 370, Option ID :- 640,
Answer Given:- 370, Option ID : -640
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Correct Answer :- 370 Option ID :- 640
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Question ID:- 165
Which clause/section of the J&K Reorganisation Act 2019 outlines the

provisions relating to All India Services?
Options:-

=88, Option ID :- 657,

= 94, Option ID :- 658,

= 95, Option ID :- 659,

= 91, Option ID :- 660,
Answer Given:- 95, Option ID : -659
Correct Answer :- 88 Option ID :- 657

Question ID:- 255

Thunderstorms originates from:

Options:-

=Stratocumulus Clouds, Option ID :- 1017,
=« Cumulonimbus Clouds, Option ID :- 1018,
= Altocumulus Clouds, Option ID :- 1019,

= Nimbostratus Clouds, Option ID :- 1020,
Answer Given:- Stratocumulus Clouds, Option ID : -1017
Correct Answer :- Cumulonimbus Clouds Option ID :- 1018

Question ID:- 146
Which among the following is most widely spoken language after Hindi in
the Indian subcontinent ?

Options:-

=« Telugu, Option ID :- 581,
= Bengali, Option ID :- 582,
= Urdu, Option ID :- 583,

= Sino Tibetan, Option ID :- 584,
Answer Given:- Telugu, Option ID : -581
Correct Answer :- Bengali Option ID :- 582

Question ID:- 241
Express 231 in prime factors.

Options:-

«3X7x11, Option ID :- 961,
= 21x11, Option ID :- 962,
= 33x4, Option ID :- 963,

=« 3x4x11, Option ID :- 964,
Answer Given:- 3x7x11, Option ID : -961
Correct Answer :- 3x7x11 Option ID :- 961

Question ID:- 136

The 'First battle of Tarain' was fought by Prithviraj Chauhan with invading
armies of:
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Options:-

«Muhammad of Ghor, Option ID :- 541,
= Shah Mir, Option ID :- 542,

= Mir Jafar, Option ID :- 543,

= None Of These, Option ID :- 544,
Answer Given:- Muhammad of Ghor, Option ID : -541
Correct Answer :- Muhammad of Ghor Option ID :- 541

Question ID:- 199

Choose the correct option:
Verbal communication is the use of oral, unwritten , and is an essential part of interacting with others.

Options:-

swords, Option ID :- 793,

=« sounds, Option ID :- 794,

= mannerisms, Option ID :- 795,

= code of conduct, Option ID :- 796,
Answer Given:- sounds, Option ID : -794
Correct Answer :- words Option ID :- 793

Question ID:- 196
Complete the given sentence using the appropriate Simile from the given options:

During the house fire, my dad was
Options:-
=As Dry as The Sahara Desert, Option ID :- 781,
= As Clean as Whistle, Option ID :- 782,
= As Brave as a Lion, Option ID :- 783,

= Like an Angel, Option ID :- 784,
Answer Given:- Like an Angel, Option ID : -784
Correct Answer :- As Brave as a Lion Option ID :- 783

Question ID:- 176

The largest sacred groves of India are in which of the following states of India?
Options:-

«Uttarakhand and Himanchal Pradesh, Option ID :- 701,

= Kerala and Tamil Nadu, Option ID :- 702,

» Kerala and Andhra Pradesh, Option ID :- 703,

=« Maharashtra and Madhya Pradesh, Option ID :- 704,

Answer Given:- Kerala and Andhra Pradesh, Option ID : -703
Correct Answer :- Uttarakhand and Himanchal Pradesh Option ID :- 701

Question ID:- 218
In certain code 'HILTON' is written as 'IHTLNO'. How is 'BILLIONS' written in that code?
Options:-

«IBLLOISN, Option ID :- 869,
= LIBNSOLI, Option ID :- 870,
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« IBLLIONS, Option ID :- 871,

= NOLLIBIS, Option ID :- 872,

Answer Given:- IBLLOISN, Option ID : -869
Correct Answer :- IBLLOISN Option ID :- 869

Question ID:- 177

Which of the following state in India celebrates Red Panda festival every year ?
Options:-

=Sikkim, Option ID :- 705,

= Assam, Option ID :- 706,

=« Manipur, Option ID :- 707,

= Tripura, Option ID :- 708,
Answer Given:- Assam, Option ID : -706
Correct Answer :- Sikkim Option ID :- 705

Question ID:- 238

A sum of Rs. 25000 will become Rs. 31000 in 48 months at some rate of simple interest. Find the rate of interest per
annum.

Options:-

+4%, Option ID :- 949,

s 6%, Option ID :- 950,

= 8%, Option ID :- 951,

= 9%, Option ID :- 952,
Answer Given:- 6%, Option ID : -950
Correct Answer :- 6% Option ID :- 950

Question ID:- 258
Which of the following is the Sub-Committee for operationalization of Graded
Response Action Plan (GRAP) ?

Options:-

=Central Pollution Control Board, Option ID :- 1029,

= Pollution Control Committee, Option ID :- 1030,

= Commission for Air Quality Management, Option ID :- 1031,

= Delhi Pollution Control Committee, Option ID :- 1032,
Answer Given:- Commission for Air Quality Management, Option ID : -1031
Correct Answer :- Commission for Air Quality Management Option ID :- 1031

Question ID:- 164

Which section of the J&K Reorganisation Act 2019 deals with the Contingency
Fund of the Union Territory of Jammu and Kashmir?

Options:-

=69, Option ID :- 653,
=« 67, Option ID :- 654,
s 65, Option ID :- 655,

= 63, Option ID :- 656,
Answer Given:- 67, Option ID : -654
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Correct Answer :- 69 Option ID :- 653

Question ID:- 192

Fill in the blank by using the correct appropriate word from the following given options :

Aren'tyou goingto __ towards Palash's leaving present?
Options:-
=approve, Option ID :- 765,
= full, Option ID :- 766,
« contribute, Option ID :- 767,

= account, Option ID :- 768,
Answer Given:- contribute, Option ID : -767
Correct Answer :- contribute Option ID :- 767

Question ID:- 141

Among the following, who messaged to the people was to,
“Arise, awake and stop not till the goal is reached”?
Options:-

«Swami Vivekananda, Option ID :- 561,

=« Rabindranath Tagore, Option ID :- 562,

= Subhas Chandra Bose, Option ID :- 563,

= Sri Ramakrishna Paramahamsa, Option ID :- 564,
Answer Given:- Subhas Chandra Bose, Option ID : -563
Correct Answer :- Swami Vivekananda Option ID :- 561

Question ID:- 123

Where was the World Summit on the Information
Society Forum 2022 convened?

Options:-

=Mauritius, Option ID :- 489,
« Paris, Option ID :- 490,

= Montreal, Option ID :- 491,

=« Geneva, Option ID :- 492,

Answer Given:- Montreal, Option ID : -491
Correct Answer :- Geneva Option ID :- 492

Question ID:- 234

The number of girls in a class is 5 time the number of boys. Which of the following cannot be the total number of
children in the class?

Options:-

=24, Option ID :- 933,

= 35, Option ID :- 934,

= 30, Option ID :- 935,

= 42, Option ID :- 936,
Answer Given:- 24, Option ID : -933
Correct Answer :- 35 Option ID :- 934

Question ID:- 190
Choose the part (A/B/C) of the given sentence that contains an error. If
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the given sentence does not contain any error, mark "No error" as the
answer. Ignore the punctuation error (if any):

They travel to Australia (A) / every summer and always stayed (B) /in
small villages on the coast. (C)/ No error (D)

Options:-

«A, Option ID :- 757,
=« B, Option ID :- 758,
« D, Option ID :- 759,

= C, Option ID :- 760,
Answer Given:- C, Option ID : -760
Correct Answer :- A Option ID :- 757
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Question ID:- 226

Arrange the given English words in alphabetical order.
1. Jacana

2. Jacinth

3. Jacal

4. Jack

5. Jacamar

Options:-

«3,4, 2,5, 1, Option ID :- 901,
« 3,4,1, 5, 2, Option ID :- 902,
« 3,4,5,1, 2, Option ID :- 903,

« 3,5,4, 2,1, Option ID :- 904,
Answer Given:- 3, 4, 5, 1, 2, Option ID : -903
Correct Answer :- 3, 4, 1, 5, 2 Option ID :- 902

Question ID:- 143
Which Indian city is known as "Land of the Dawn-lit Mountains" ?

Options:-

=Manali, Himanchal Pradesh, Option ID :- 569,
=« Gangtok, Sikkim, Option ID :- 570,

= Dibrugarh, Assam, Option ID :- 571,

= Itanagar, Arunachal Pradesh, Option ID :- 572,
Answer Given:- Manali, Himanchal Pradesh, Option ID : -569
Correct Answer :- Itanagar, Arunachal Pradesh Option ID :- 572

Question ID:- 127
Who won the 'Record of the Year' award at the Grammy 2021 ?

Options:-

=Justin Beiber, Option ID :- 505,
= Rihanna, Option ID :- 506,

= Taylor Swift, Option ID :- 507,

= Billie Eilish, Option ID :- 508,
Answer Given:- Taylor Swift, Option ID : -507
Correct Answer :- Billie Eilish Option ID :- 508
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Question ID:- 151
The layer of the Earth Asthenosphere is:

Options:-

=Solid, Option ID :- 601,

« Liquid, Option ID :- 602,
= Plastic, Option ID :- 603,

= Cold, Option ID :- 604,
Answer Given:- Liquid, Option ID : -602
Correct Answer :- Plastic Option ID :- 603
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Question ID:- 140

Who among the following said that the constant 'drain of
wealth' from India was responsible for India's economic
miseries?

Options:-

«BC Pal, Option ID :- 557,

=« Jawahar Lal Nehru, Option ID :- 558,
=« Dadabhai Naoroji, Option ID :- 559,

= Gokhale, Option ID :- 560,
Answer Given:- Jawahar Lal Nehru, Option ID : -558
Correct Answer :- Dadabhai Naoroji Option ID :- 559

Question ID:- 210

Options:-

«Ctri+Y, Option ID :- 837,
= Alt+A, Option ID :- 838,
= Ctrl+W, Option ID :- 839,

= Alt+D, Option ID :- 840,
Answer Given:- Ctrl+W, Option ID : -839
Correct Answer :- Alt+A Option ID :- 838

Which among the following is the keyboard shortcut to go to Data tab in MS Excel?

Question ID:- 224
Find out the wrong number in the given series:
105, 85, 60, 30, 0, -45, -90

Options:-

=85, Option ID :- 893,
« 30, Option ID :- 894,
= 0, Option ID :- 895,

=« -90, Option ID :- 896,
Answer Given:- 0, Option ID : -895
Correct Answer :- 0 Option ID :- 895

Question ID:- 128

Taking cognizance towards Vulture Conservation, which Indian state has set up State
level committee recently ?

Options:-
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=Gujarat, Option ID :- 509,
= Andhra Pradesh, Option ID :- 510,
= TamilNadu, Option ID :- 511,

= Uttar Pradesh, Option ID :- 512,
Answer Given:- TamilNadu, Option ID : -511
Correct Answer :- TamilNadu Option ID :- 511
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Question ID:- 169

The annual Report on Currency & Finance is published by

Options:-

=Government of India, Option ID :- 673,

= Reserve Bank of India, Option ID :- 674,
= Ministry of Finance, Option ID :- 675,

= Central Statistical Organization, Option ID :- 676,

Answer Given:- Reserve Bank of India, Option ID : -674
Correct Answer :- Reserve Bank of India Option ID :- 674

Question ID:- 175

Where is the National Research Centre for Women in Agriculture
located?

Options:-

=Bhubaneswar , Option ID :- 697,
= Chennai, Option ID :- 698,

= Lucknow, Option ID :- 699,

= Batala, Option ID :- 700,
Answer Given:- Bhubaneswar , Option ID : -697
Correct Answer :- Bhubaneswar Option ID :- 697

Question ID:- 125

Which country signed into law ‘Uyghur Forced Labor Prevention Act’ in December 2021 ?
Options:-

=Paris, Option ID :- 497,

= People's Republic of China, Option ID :- 498,

= United States of America, Option ID :- 499,

= Philipines, Option ID :- 500,
Answer Given:- United States of America, Option ID : -499
Correct Answer :- United States of America Option ID :- 499

Question ID:- 147

Which of the following state is the largest producer of sugarcane in India
20227

Options:-

=West Bengal, Option ID :- 585,

= Punjab, Option ID :- 586,

= Madhya Pradesh, Option ID :- 587,
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= Uttar Pradesh, Option ID :- 588,
Answer Given:- Uttar Pradesh, Option ID : -588
Correct Answer :- Uttar Pradesh Option ID :- 588
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Question ID:- 183

International Day for the Preservation of the Ozone Layer is celebrated on ?

Options:-

«January 1, Option ID :- 729,

= February 26, Option ID :- 730,
= October 9, Option ID :- 731,

=« September 16, Option ID :- 732,
Answer Given:- September 16, Option ID : -732
Correct Answer :- September 16 Option ID :- 732

Question ID:- 259

Which of the following is not a Bioremediation technique ?
Options:-

=Biodamping, Option ID :- 1033,

= Bioventing, Option ID :- 1034,

= Biosparging, Option ID :- 1035,

= Bioslurping, Option ID :- 1036,
Answer Given:- Not Attempted
Correct Answer :- Biodamping Option ID :- 1033

Question ID:- 163

As per the amended First Schedule of the Representation of the People Act,
1956, after the passing of the Jammu and Kashmir Reorganisation Act,
2019, how many seats in the House of the People are allocated to the Union
Territory of Jammu & Kashmir and UT of Ladakh respectively?

Options:-

=5, 1, Option ID :- 649,

= 4, 1, Option ID :- 650,

= 3, 3, Option ID :- 651,

= 4, 2, Option ID :- 652,

Answer Given:- 5, 1, Option ID : -649
Correct Answer :- 5, 1 Option ID :- 649

Question ID:- 162
'Right to Property'is a:

Options:-

«Fundamental Right, Option ID :- 645,
= Legal Right, Option ID :- 646,

= Directive Principle, Option ID :- 647,

= Natural Right, Option ID :- 648,
Answer Given:- Legal Right, Option ID : -646
Correct Answer :- Legal Right Option ID :- 646
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Question ID:- 195
Choose the appropriate option to complete the given sentence:

The country has history of going to war.

Options:-

=an, Option ID :- 777,
= a, Option ID :- 778,

= the, Option ID :- 779,

= that, Option ID :- 780,
Answer Given:- a, Option ID : -778
Correct Answer :- a Option ID :- 778
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Question ID:- 150
Which one of the following planets has the largest number of satellites ?

Options:-

=Neptune, Option ID :- 597,
= Saturn, Option ID :- 598,

= Uranus, Option ID :- 599,

= Mars, Option ID :- 600,
Answer Given:- Neptune, Option ID : -597
Correct Answer :- Saturn Option ID :- 598

Question ID:- 223

How is my mother's mother's only son-in-law's sister related to me ?

Options:-

=Mother-in-law, Option ID :- 889,
= Aunt, Option ID :- 890,

= Niece, Option ID :- 891,

= Grandmother, Option ID :- 892,
Answer Given:- Aunt, Option ID : -890
Correct Answer :- Aunt Option ID :- 890

Question ID:- 208
Which of the following is not a hydrated salt?
Options:-
=Blue vitriol , Option ID :- 829,
=« Baking soda , Option ID :- 830,
= Washing soda , Option ID :- 831,

= None of these , Option ID :- 832,
Answer Given:- Blue vitriol , Option ID : -829
Correct Answer :- Baking soda Option ID :- 830

Question ID:- 168

What is the name of the faceless assessment programme launched by the
Central Board of Indirect Taxes and Customs?

Options:-
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=Bharat Customs , Option ID :- 669,
= Unaware Customs , Option ID :- 670,
= Faceless Customs , Option ID :- 671,

= Turant Customs , Option ID :- 672,
Answer Given:- Faceless Customs , Option ID : -671
Correct Answer :- Turant Customs Option ID :- 672

Question ID:- 213

Direction: A statement followed by two assumptions | and Il. You have to consider the statement and the
following assumptions and decide which of the assumptions is implicit in the statement.

Statement: An advertisement in the newspaper - ‘Learn a foreign language course to get a high paying job'".

Assumptions:
(1) All those who learn foreign language get highly paid jobs.
(1) Only a foreign language can get someone a high paying job.
Options:-
=«Only assumption I is implicit, Option ID :- 849,
= Only assumption II is implicit, Option ID :- 850,
=« Both assumption I & II are implicit, Option ID :- 851,

= None implicit, Option ID :- 852,
Answer Given:- Only assumption II is implicit, Option ID : -850
Correct Answer :- None implicit Option ID :- 852

Question ID:- 227
In a certain code DECEMBER is written as ERMBCEDE which word will be written as ERMBVENO in that code?

Options:-

«NOVEMBER, Option ID :- 905,
« OCTOBER, Option ID :- 906,

« SEPTEMBER, Option ID :- 907,

. NONE OF THESE, Option ID :- 908,

Answer Given:- NOVEMBER, Option ID : -905
Correct Answer :- NOVEMBER Option ID :- 905

Question ID:- 158
What does Democratic Nation means?
Options:-
=People elect their rulers and hold them accountable, Option ID :- 629,
« Citizens cannot be discriminated on any grounds, Option ID :- 630,
= No unreasonable restrictions on citizens to what to think and act, Option ID :- 631,

= Citizens can follow a religion of their choice, Option ID :- 632,
Answer Given:- Citizens can follow a religion of their choice, Option ID : -632
Correct Answer :- People elect their rulers and hold them accountable Option ID :- 629

Question ID:- 207
Which one of the following is used to make the heating element of an electric iron?
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Options:-

saluminium, Option ID :- 825,
= iron, Option ID :- 826,

= nichrome, Option ID :- 827,

=« copper, Option ID :- 828,
Answer Given:- copper, Option ID : -828
Correct Answer :- nichrome Option ID :- 827

Question ID:- 202
Why does the boiling point of water decrease at higher altitudes?
Options:-
slow temperature, Option ID :- 805,
= low atmospheric pressure, Option ID :- 806,
= high temperature, Option ID :- 807,

« high atmospheric pressure, Option ID :- 808,

Answer Given:- low temperature, Option ID : -805
Correct Answer :- low atmospheric pressure Option ID :- 806

Question ID:- 171

What is the interest rate for Sukanya Samriddhi Account Scheme for the
FY2021-2022?

Options:-

=3.6 percent, Option ID :- 681,
= 5.6 percent, Option ID :- 682,
=« 7.6 percent, Option ID :- 683,

= 9.6 percent, Option ID :- 684,
Answer Given:- 9.6 percent, Option ID : -684
Correct Answer :- 7.6 percent Option ID :- 683

Question ID:- 232

In the below given question, a few statements have been given. Analyse the given statements and answer
whether the data given in the statements are sufficient to answer the question or not.

I. B is heavier than A, but lighter than D.
Il. Cis lighter than B.
Among four friends A, B, C and D, who is the heaviest ?

Options:-

«if the data in statement I alone are sufficient to answer the question, Option ID :- 925,

» if the data in statement II alone are sufficient to answer the question, Option ID :- 926,

« if the data even in both the statement together are not sufficient to answer the question, Option
ID :- 927,

« if the data in both the statements together are needed., Option ID :- 928,
Answer Given:- if the data in statement I alone are sufficient to answer the question, Option ID : -

925
Correct Answer :- if the data in both the statements together are needed. Option ID :- 928

Question ID:- 204



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Which of the following pigment absorbs light in photosynthesis?
Options:-
= Carotenoids, Option ID :- 813,
= Phycobilins, Option ID :- 814,
= Chlorophyll, Option ID :- 815,

= Plastids, Option ID :- 816,
Answer Given:- Chlorophyll, Option ID : -815
Correct Answer :- Chlorophyll Option ID :- 815
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Question ID:- 229
Six Student Arjit, Bhanu,Chandan, Divya, Raman and Suman

are sitting in two rows, three in each. Raman is not at the end of
any row. Divya is second to the left of Suman. Chandan the
neighbour of Raman, is sitting diagonally opposite to Divya.
Bhanu is the neighbour of Suman.

Which of the following is sitting opposite to Arjit?

Options:-

=Divya, Option ID :- 913,

=« Raman, Option ID :- 914,

=« Chandan, Option ID :- 915,

= Bhanu, Option ID :- 916,
Answer Given:- Not Attempted
Correct Answer :- Divya Option ID :- 913

Question ID:- 256
How many Princely States were there in geographical boundaries of India
before Independence ?

Options:-

«550, Option ID :- 1021,
=« 552, Option ID :- 1022,
=« 549, Option ID :- 1023,

= 600, Option ID :- 1024,
Answer Given:- 550, Option ID : -1021
Correct Answer :- 552 Option ID :- 1022

Question ID:- 228

From the given options, complete the Analogy:
ENGINE:CAR

Options:-

=«PEN : PAPER, Option ID :- 909,

= CROW : PARROT, Option ID :- 910,

=« PETAL : FLOWER, Option ID :- 911,

= BALL : GAME, Option ID :- 912,
Answer Given:- PETAL : FLOWER, Option ID : -911
Correct Answer :- PETAL : FLOWER Option ID :- 911

Question ID:- 131
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‘Vidya Rath-School on Wheels’ project is launched by which state?
Options:-

=Assam, Option ID :- 521,

= Rajasthan, Option ID :- 522,

= Bihar, Option ID :- 523,

= Uttarakhand, Option ID :- 524,

Answer Given:- Bihar, Option ID : -523
Correct Answer :- Assam Option ID :- 521

Question ID:- 156

In 2015, Planning Commission was replaced by new body called as :
Options:-

=National Commission for Backward Classes, Option ID :- 621,
= National Commission for Atomic Energy, Option ID :- 622,

= National institution for Transforming India, Option ID :- 623,

= National Commission for Transperancy In India, Option ID :- 624,

Answer Given:- National institution for Transforming India, Option ID : -623
Correct Answer :- National institution for Transforming India Option ID :- 623

Question ID:- 262

“Agenda 21" was adopted in which of the following summit ?
Options:-

«First Earth Summit, Option ID :- 1045,
= Bonn Climate Change Conference, Option ID :- 1046,
= UN Conference on Desertification, Option ID :- 1047,

= Montréal Protocol, Option ID :- 1048,
Answer Given:- Bonn Climate Change Conference, Option ID : -1046
Correct Answer :- First Earth Summit Option ID :- 1045

Question ID:- 194
Choose which of the following option is a one word substitution for given phrase :

Related to marriage
Options:-
sMatrimony, Option ID :- 773,
= Monopoly, Option ID :- 774,
= Pathetic, Option ID :- 775,

= Sympathy, Option ID :- 776,
Answer Given:- Monopoly, Option ID : -774
Correct Answer :- Matrimony Option ID :- 773

Question ID:- 222

Which of the following words can not be formed by using only and only the letters available in the word
"PHENOMENON" ?

Options:-
«NEON, Option ID :- 885,
= PEAHEN, Option ID :- 886,
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= PHONE, Option ID :- 887,

=« HOME, Option ID :- 888,
Answer Given:- PEAHEN, Option ID : -886
Correct Answer :- PEAHEN Option ID :- 886

Question ID:- 188
Choose from the following given options, the ANTONYM of the given word:

Violence
Options:-

«tenderness, Option ID :- 749,
= fierceness, Option ID :- 750,
« brutality, Option ID :- 751,

= ferocity, Option ID :- 752,

Answer Given:- fierceness, Option ID : -750
Correct Answer :- tenderness Option ID :- 749

Question ID:- 133
Recently launched Covid-19 vaccine 'Anocovax' is administered to:

Options:-

«Poultry Birds, Option ID :- 529,

= Animals, Option ID :- 530,

= Severely Critical Human Patients, Option ID :- 531,

= Severely Critical Senior Citizens, Option ID :- 532,
Answer Given:- Severely Critical Human Patients, Option ID : -531
Correct Answer :- Animals Option ID :- 530

Question ID:- 201

Which among the following is a characteristic of Democratic leaders?

Options:-

«Take decisions without accessing their team members, even if their input would be suitable.,
Option ID :- 801,

= Give freedom to their team members to decide their work and completion deadlines, Option ID :-
802,

= Take the final decisions, but they involve team members in the decision-making process, Option
ID :- 803,

= none of these, Option ID :- 804,

Answer Given:- Take the final decisions, but they involve team members in the decision-making
process, Option ID : -803

Correct Answer :- Take the final decisions, but they involve team members in the decision-making
process Option ID :- 803

Question ID:- 173

When was the Negotiable Instruments act implemented?

Options:-
= 1880, Option ID :- 689,
= 1882, Option ID :- 690,
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= 1884, Option ID :- 691,

= 1886, Option ID :- 692,

Answer Given:- 1884, Option ID : -691
Correct Answer :- 1882 Option ID :- 690

Question ID:- 205

Which of the following plants is adapted to live in dry places?

Options:-

sRosewood, Option ID :- 817,
= Teak, Option ID :- 818,

= Coconut, Option ID :- 819,

= Barrel Cactus, Option ID :- 820,
Answer Given:- Barrel Cactus, Option ID : -820
Correct Answer :- Barrel Cactus Option ID :- 820

Question ID:- 172
Which state attracted the highest project investments in 2018-19?

Options:-

sAndhra Pradesh, Option ID :- 685,
= Uttar Pradesh, Option ID :- 686,

= Karnataka, Option ID :- 687,

= Maharashtra, Option ID :- 688,
Answer Given:- Andhra Pradesh, Option ID : -685
Correct Answer :- Andhra Pradesh Option ID :- 685

Question ID:- 215
In a certain code language, "MATHS" is written as "PDWKV". How is "ACCOUNT" written in that code language ?

Options:-

«DFFRXQW, Option ID :- 857,
= PKLKKP, Option ID :- 858,

= DERFGTR, Option ID :- 859,

= LKPPKL, Option ID :- 860,
Answer Given:- DFFRXQW, Option ID : -857
Correct Answer :- DFFRXQW Option ID :- 857

Question ID:- 189
Choose from the given options, the SYNONYM of the given word:

Enrage
Options:-

=appease, Option ID :- 753,
= placate, Option ID :- 754,
= soothe, Option ID :- 755,

= infuriate, Option ID :- 756,
Answer Given:- placate, Option ID : -754
Correct Answer :- infuriate Option ID :- 756
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Question ID:- 193
Find the correctly spelt word among the given options.

Options:-

«Millionair, Option ID :- 769,

= Millionnaire, Option ID :- 770,
= Milionaire, Option ID :- 771,

= Millionaire, Option ID :- 772,
Answer Given:- Millionnaire, Option ID : -770
Correct Answer :- Millionaire Option ID :- 772

Question ID:- 124

Which of the following are not signatory to the Helsinki
agreement ?

Options:-

=Belgium , Option ID :- 493,

=« The United States , Option ID :- 494,
= France , Option ID :- 495,

= Ukraine , Option ID :- 496,
Answer Given:- Ukraine , Option ID : -496
Correct Answer :- Ukraine Option ID :- 496

Question ID:- 239
Arun sells an object to Benny at a profit of 15%, Benny sells that object to Chandan for 1012 and makes a
profit of 10%. At what cost did Arun purchase the object?

Options:-

=Rs 800, Option ID :- 953,
= Rs 700, Option ID :- 954,
= Rs 200, Option ID :- 955,

= Rs 500, Option ID :- 956,
Answer Given:- Rs 800, Option ID : -953
Correct Answer :- Rs 800 Option ID :- 953

Question ID:- 139

Who among the following did not attend the First Round
Table Conference 19317

Options:-

«MK Gandhi, Option ID :- 553,

= Sir Tej Bahadur Sapru , Option ID :- 554,
=« Dr Ambedkar , Option ID :- 555,

= All of these , Option ID :- 556,
Answer Given:- All of these , Option ID : -556
Correct Answer :- MK Gandhi Option ID :- 553

Question ID:- 209
Among the following diseases, which one is transmitted by the mosquito?

Options:-
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=Dengue, Option ID :- 833,
= Plague, Option ID :- 834,
= Cholera, Option ID :- 835,

= Tuberculosis, Option ID :- 836,
Answer Given:- Dengue, Option ID : -833
Correct Answer :- Dengue Option ID :- 833

Question ID:- 257
How many cities are under "River Cities Alliance" -a dedicated platform for river
cities in India for sustainable management of urban rivers ?

Options:-

=22 Members Cities, Option ID :- 1025,
= 24 Members Cities, Option ID :- 1026,
= 26 Members Cities, Option ID :- 1027,

= 30 Members Cities, Option ID :- 1028,
Answer Given:- 26 Members Cities, Option ID : -1027
Correct Answer :- 30 Members Cities Option ID :- 1028

Question ID:- 148
Which of the following statements are true ?
1. Low pressure system is enclosed by one or more
isobars with the lowest pressure in the centre.
2. High pressure system is enclosed by one or more isobars with the
highest pressure in the centre.
Options:-
«Only 1, Option ID :- 589,
= Only 2, Option ID :- 590,
= Both 1 and 2, Option ID :- 591,

= None of These, Option ID :- 592,
Answer Given:- Both 1 and 2, Option ID : -591
Correct Answer :- Both 1 and 2 Option ID :- 591

Question ID:- 200

Which one of the following reading skills helps you to connect and relate whatever you read, to what you have
learnt previously before?

Options:-

«skimming, Option ID :- 797,
= scanning, Option ID :- 798,
= recalling, Option ID :- 799,

= reviewing, Option ID :- 800,
Answer Given:- recalling, Option ID : -799
Correct Answer :- recalling Option ID :- 799

Question ID:- 191

Fill in the blank by using the correct appropriate word from the following given options :

| returned the manuscripts to the interviewees to allow revisions to be made.
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Options:-

«for, Option ID :- 761,

= from, Option ID :- 762,
=« if, Option ID :- 763,

= in, Option ID :- 764,
Answer Given:- for, Option ID : -761
Correct Answer :- for Option ID :- 761
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Question ID:- 242

The bar graph shows the frequency of a, e, i. 0, uin the piece of English writing.

20
B0
7o

H N

Which letter has occurred less than 40 times?

Options:-
=u, Option ID :- 965,

Frequency

= a, Option ID :- 966,
= e, Option ID :- 967,

= i, Option ID :- 968,
Answer Given:- u, Option ID : -965
Correct Answer :- u Option ID :- 965

Question ID:- 174

Which of the following types of economy does the Keynesian Economic system
support?

Options:-

»Sacialist economy, Option ID :- 693,

= Capitalist economy, Option ID :- 694,

= Mixed economy, Option ID :- 695,

= None of these, Option ID :- 696,
Answer Given:- Mixed economy, Option ID : -695
Correct Answer :- Mixed economy Option ID :- 695

Question ID:- 152
Which volcano caused the loudest sound in recorded history ?

Options:-

sMount Vesuvius, Option ID :- 605,
= Mount Fuji, Option ID :- 606,

= Mount Etna, Option ID :- 607,

= Krakatau, Option ID :- 608,
Answer Given:- Mount Fuji, Option ID : -606
Correct Answer :- Krakatau Option ID :- 608

Question ID:- 153
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Which one of the following is non-renewable source of energy ?
Options:-

«Hydel, Option ID :- 609,

= Wind, Option ID :- 610,

= Coal, Option ID :- 611,

= Solar, Option ID :- 612,

Answer Given:- Hydel, Option ID : -609
Correct Answer :- Coal Option ID :- 611

Question ID:- 170
When was the Kisan Credit Card (KCC) scheme introduced ?

Options:-

=«1988, Option ID :- 677,
=« 1998, Option ID :- 678,
= 2008, Option ID :- 679,

= 2018, Option ID :- 680,
Answer Given:- 2008, Option ID : -679
Correct Answer :- 1998 Option ID :- 678

Question ID:- 166

What is the name of India’s first Regional Rural Bank which was
launched in 19757

Options:-

«Vidarbha Konkan Gramin Bank, Option ID :- 661,

« Karnataka Vikas Grameena Bank, Option ID :- 662,

= Pragathi Krishna Gramin Bank, Option ID :- 663,

=« Prathama Bank, Option ID :- 664,

Answer Given:- Vidarbha Konkan Gramin Bank, Option ID : -661
Correct Answer :- Prathama Bank Option ID :- 664

Question ID:- 220

Some boys are sitting in a row. P is sitting fourteenth from the left and Q is seventh from the right. If
there are four boys between P and Q, how many boys are there in the row ?

Options:-

=25, Option ID :- 877,
= 26, Option ID :- 878,
= 28, Option ID :- 879,

=« 20, Option ID :- 880,
Answer Given:- Not Attempted
Correct Answer :- 25 Option ID :- 877

Question ID:- 138
What is the name of anthologies of compositions by the Alvars, which is

described as the Tamil Veda ?
Options:-

«Mukundamala, Option ID :- 549,
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=« Nalayira Divyaprabandham, Option ID :- 550,
» Thiruvasagam, Option ID :- 551,

=« Thevaram, Option ID :- 552,
Answer Given:- Thiruvasagam, Option ID : -551

GET IT ON
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Correct Answer :- Nalayira Divyaprabandham Option ID :- 550

Question ID:- 130

Who became first Indian woman to clock sub-13 seconds in 100m hurdles at the National Open

Athletics Championships ?

Options:-

=:Dutee Chand, Option ID :- 517,
= Jisna Mathew, Option ID :- 518,
= Jyothi Yarraji, Option ID :- 519,

=« VK Vismaya, Option ID :- 520,
Answer Given:- Not Attempted
Correct Answer :- Jyothi Yarraji Option ID :- 519

Question ID:- 211

Options:-

=Wireless Fibre, Option ID :- 841,

= Wireless Fidelity, Option ID :- 842,

= Wide-area Fidelity, Option ID :- 843,

= Wide-area Fibre, Option ID :- 844,
Answer Given:- Wireless Fibre, Option ID : -841
Correct Answer :- Wireless Fidelity Option ID :- 842

Which of the following is the full form of internet connecting network WIFI?

Question ID:- 233
Question is based on the data given below. Study it carefully and

answer the question.

In a school out of 250 students studying in class IX, boys & girls are in
the ratio of 2 : 3 respectively. Each student likes to play one or more
of the games Badminton Table Tennis & Foot Ball. 19% of the

boys & 16% of the girls play only Badminton. 11 % of the boys & 18%
of the girls play only Table Tennis and 16% of the boys & 12% of the
girls play only Foot Ball. 15% of the boys & 18% of the girls play
Badminton as well as Table Tennis. 17% of the boys & 14% of the girls
play Badminton as well as Foot Ball. 15% of the boys & 16% of the girls
play table tennis as well as Foot Ball. Remaining boys & girls play all
three games.

How many boys do not play Foot Ball ?

Options:-

=34, Option ID :- 929,
= 45, Option ID :- 930,
= 56, Option ID :- 931,

= 23, Option ID :- 932,
Answer Given:- Not Attempted
Correct Answer :- 45 Option ID :- 930
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Question ID:- 145
Which coast of India is most prone for the cyclones developing over the

Arabian Sea ?

Options:-

=« West Bengal coast, Option ID :- 577,
= Orissa coast, Option ID :- 578,

» Kerala coast, Option ID :- 579,

= Gujarat coast, Option ID :- 580,
Answer Given:- Kerala coast, Option ID : -579
Correct Answer :- Gujarat coast Option ID :- 580

Question ID:- 214

The positions of how many digits in the number 2451479638 will remain same when the first half and the
second half of the digits are arranged in ascending order separately?

Options:-

«Five, Option ID :- 853,

= Three, Option ID :- 854,

= Four, Option ID :- 855,

= None of these, Option ID :- 856,

Answer Given:- Four, Option ID : -855
Correct Answer :- None of these Option ID :- 856

Question ID:- 134
How many states among the following were there, which were given the

status of Mahajanapadas ?
Options:-

=6, Option ID :- 533,

« 10, Option ID :- 534,
= 16, Option ID :- 535,

= 20, Option ID :- 536,
Answer Given:- 16, Option ID : -535
Correct Answer :- 16 Option ID :- 535

Question ID:- 167
In 2020, this Indian bank merged with the United Bank of India and the

Oriental Bank of Commerce and unveiled a brand new logo ahead of the
merger. Identify the bank.

Options:-

«Punjab National Bank, Option ID :- 665,
= Bank of Baroda, Option ID :- 666,

« IDFC Bank, Option ID :- 667,

= IndusInd Bank, Option ID :- 668,
Answer Given:- Punjab National Bank, Option ID : -665
Correct Answer :- Punjab National Bank Option ID :- 665

Question ID:- 254

What does Karewa in Kashmiri dialect means?
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Options:-

=Valley of flower, Option ID :- 1013,
= Land of Kesar, Option ID :- 1014,
= Rich land, Option ID :- 1015,

= Elevated table land, Option ID :- 1016,
Answer Given:- Land of Kesar, Option ID : -1014
Correct Answer :- Elevated table land Option ID :- 1016

Question ID:- 126

Who is serving as the new Director-General of the World Trade
Organization since March 2021 ?

Options:-

=Ngozi Okonjo-Iweala, Option ID :- 501,
= Benjamin Netanyahu, Option ID :- 502,
= Fumio Kishida, Option ID :- 503,

= Félix Moloua, Option ID :- 504,

Answer Given:- Fumio Kishida, Option ID : -503
Correct Answer :- Ngozi Okonjo-Iweala Option ID :- 501

Question ID:- 203

Which among the following is a major component of CNG?
Options:-

=Methane, Option ID :- 809,

= Hexane, Option ID :- 810,

= Pentane, Option ID :- 811,

= Butane, Option ID :- 812,

Answer Given:- Methane, Option ID : -809
Correct Answer :- Methane Option ID :- 809

Question ID:- 132

Recently Kashmir University hosts National Delphic Summit 2022. What is the objective of this
summit ?

Options:-

=Promote Skill Development Among Youth, Option ID :- 525,

= Generating Awareness About IoT, Option ID :- 526,

= Revive Art and Culture In Jammu & Kashmir, Option ID :- 527,

= None of These, Option ID :- 528,
Answer Given:- Promote Skill Development Among Youth, Option ID : -525
Correct Answer :- Revive Art and Culture In Jammu & Kashmir Option ID :- 527

Question ID:- 142
Who among the following wrote a letter from jail stating

that, "The peasants have to liberate themselves not only
from foreign yoke bum also from the yoke of landlords and
capitalists."?

Options:-

=Bhagat Singh, Option ID :- 565,
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=« Mahatma Gandhi, Option ID :- 566,
=« Jawaharlal Nehru, Option ID :- 567,

= Mangal Pandey, Option ID :- 568,
Answer Given:- Bhagat Singh, Option ID : -565
Correct Answer :- Bhagat Singh Option ID :- 565

Question ID:- 216

In the given below letter series, some of the letters are missing. Choose the correct alternative from the
following to complete it:

-CP-D-P-DC -1

Options:-

«DCIPD, Option ID :- 861,

=« ICDPP, Option ID :- 862,

« DCPII, Option ID :- 863,

« DICIP, Option ID :- 864,
Answer Given:- DCIPD, Option ID : -861
Correct Answer :- DICIP Option ID :- 864

Question ID:- 137

Who wrote the Mughal chronicles known as "Akbar Nama" ?
Options:-

=«Bir Singh Bundela, Option ID :- 545,

= Abu’l Fazl, Option ID :- 546,

= Abdul Hamid Lahori, Option ID :- 547,

= None of These, Option ID :- 548,
Answer Given:- Abu’l Fazl, Option ID : -546
Correct Answer :- Abu’l Fazl Option ID :- 546

Question ID:- 187
Choose the option from the following, which best expresses the

meaning of bold and underlined idiom/phrase in the given sentence:

After 14 years living and working in this country, she thinks it's time to

call it a day.

Options:-

=« To keep doing what you are doing, Option ID :- 745,

= To stop what you are doing because you do not want to do any more, Option ID :- 746,

= Something common, Option ID :- 747,

=« Don't be so critical, Option ID :- 748,

Answer Given:- To stop what you are doing because you do not want to do any more, Option ID : -
746

Correct Answer :- To stop what you are doing because you do not want to do any more Option ID :-
746

Question ID:- 261

Which is the intergovernmental organization that promotes conservation of
tropical forest resources and their sustainable management, use and trade ?

Options:-
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=International Union for Conservation of Nature, Option ID :- 1041,
= United Nations Environment Programme, Option ID :- 1042,
= Conservation International, Option ID :- 1043,

= International Tropical Timber Organization, Option ID :- 1044,
Answer Given:- International Union for Conservation of Nature, Option ID : -1041
Correct Answer :- International Tropical Timber Organization Option ID :- 1044

Question ID:- 198

Choose the correct option:

A group discussion must advance
Options:-
=ideas and opinions, Option ID :- 789,
= dishonesty, Option ID :- 790,
= personal glory, Option ID :- 791,

= arguments, Option ID :- 792,

Answer Given:- ideas and opinions, Option ID : -789
Correct Answer :- ideas and opinions Option ID :- 789

Question ID:- 219

Find the missing term '?*
MOQ:RTV :: BDF: ?
Options:-
=« GIK, Option ID :- 873,
= RSV, Option ID :- 874,
= GHI, Option ID :- 875,

= VTR, Option ID :- 876,
Answer Given:- GIK, Option ID : -873
Correct Answer :- GIK Option ID :- 873

Question ID:- 231
Directions: The bar graph given below shows the sales of books (in thousand number) from six branches of a publishing

company during two consecutive years 2000 and 2001.

Sales of Books (in thousand numbers) from Six Branches - B1, B2, BJ, B4, BS and B& of a publishing
Company in 2000 and 2001.
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Branches = 2000 = 2001

What is the ratio of the total sales of branch B2 for both years to the total sales of branch B4 for both years?
Options:-

=2 : 3, Option ID :- 921,

= 8 : 5, Option ID :- 922,

= 7 :9, Option ID :- 923,
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= 9:4, Option ID :- 924,
Answer Given:- 2 : 3, Option ID : -921
Correct Answer :- 7 : 9 Option ID :- 923
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Question ID:- 263

Which of the following is true for Biochemical Oxygen Demand (BOD)
1. It is the need of oxygen for microbes to break down organic matter.
2. Low BOD is desirable.

3. High BOD is desirable.

Options:-

«Only 1, Option ID :- 1049,

= 1 and 2, Option ID :- 1050,
=« 1 and 3, Option ID :- 1051,

= Only 3, Option ID :- 1052,
Answer Given:- Only 3, Option ID : -1052
Correct Answer :- 1 and 2 Option ID :- 1050

Question ID:- 157

Which one of the following is not a responsibility of the Prime Minister?
Options:-

«Command Over Bureaucratic Machine, Option ID :- 625,

= Leadership of House of People, Option ID :- 626,

= Foreign Visits, Option ID :- 627,

=« To appoint Chief Justice of India, Option ID :- 628,
Answer Given:- To appoint Chief Justice of India, Option ID : -628
Correct Answer :- To appoint Chief Justice of India Option ID :- 628

Question ID:- 197

Which among the following words is an Adjective?
Options:-

scute, Option ID :- 785,

= toddler, Option ID :- 786,

» infant, Option ID :- 787,

» child, Option ID :- 788,
Answer Given:- cute, Option ID : -785
Correct Answer :- cute Option ID :- 785

Question ID:- 230

would be the seventh last alphabet?

Options:-

=N, Option ID :- 917,
= J, Option ID :- 918,
= O, Option ID :- 919,

= R, Option ID :- 920,
Answer Given:- R, Option ID : -920

If the letters of the english alphabet are written in reverse order after removing the vowels then which
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Correct Answer :- J Option ID :- 918

Question ID:- 221

If '+' means "Division"; 'x' means "Addition" ; '-' means "Multiplication" and '+' means "Substraction”, They
follow the BODMAS rules. What is the value of the expression

"18+9-5+3x2".

Options:-

=7, Option ID :- 881,

= 9, Option ID :- 882,

= 10, Option ID :- 883,

= 11, Option ID :- 884,
Answer Given:- 9, Option ID : -882
Correct Answer :- 9 Option ID :- 882

Question ID:- 235
The cost price of 20 articles is the same as the selling price of P articles.

If the profit is 25%, then value of P is:
Options:-

=21, Option ID :- 937,

= 16, Option ID :- 938,

= 28, Option ID :- 939,

= 32, Option ID :- 940,
Answer Given:- 28, Option ID : -939
Correct Answer :- 16 Option ID :- 938

Question ID:- 236

A man can row his boat with the stream at 8 km/h and against the stream in 6 km/h. The speed of current in Km/hr is:

Options:-

=1 km/hr, Option ID :- 941,
= 3 km/hr, Option ID :- 942,
= 4 km/hr, Option ID :- 943,

=« 7 km/hr, Option ID :- 944,
Answer Given:- 4 km/hr, Option ID : -943
Correct Answer :- 1 km/hr Option ID :- 941

Question ID:- 212
In MS Excel, to add Screenshot, which of the following tabs is to be selected?

Options:-

«View, Option ID :- 845,

=« Page Layout, Option ID :- 846,
= Insert, Option ID :- 847,

= Review, Option ID :- 848,
Answer Given:- Page Layout, Option ID : -846
Correct Answer :- Insert Option ID :- 847

Question ID:- 154
The order Habeas Corpus, issued by court, is to :

Options:-
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=«An Public Official For Performing His Duities, Option ID :- 613,
= A Lower Court To Stop Proceedings, Option ID :- 614,
= Inform lower Courts To Transfer Cases To High Court, Option ID :- 615,

= A Person Who Has Detained Another Person, To Bring To Court The Detained Person, Option ID :-
616,

Answer Given:- A Person Who Has Detained Another Person, To Bring To Court The Detained
Person, Option ID : -616

Correct Answer :- A Person Who Has Detained Another Person, To Bring To Court The Detained
Person Option ID :- 616
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